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QUESTION 1

What situation results from performing a Create Object Action on an abstract class? 

A. undefined behavior 

B. arbitrary object of one of its subclasses being created 

C. exception being raised 

D. error log entry created 

E. object of the specified class being created 

Correct Answer: A 

 

QUESTION 2

In the exhibit, if the incoming arrows provide one control value and two data values, what values are provided to the
outgoing arrows? 

A. the two data values 

B. a single control value 

C. a single data value combining the original two data values 

D. both the control and two data values 

Correct Answer: A 

 

QUESTION 3

In the exhibit, what represents an interaction occurrence? 
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A. A 

B. B 

C. C 

D. D 

Correct Answer: C 

 

QUESTION 4

What is correct about a profile? (Choose two.) 

A. is applied to a package 

B. cannot be used without its reference model 

C. can dynamically change its reference metamodel 
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D. is applied to a reference metamodel 

Correct Answer: AB 

 

QUESTION 5

What is true of outgoing transitions from a fork pseudo state? 

A. are taken serially in arbitrary order 

B. can only exist of the object is declared concurrent 

C. are mutually exclusive 

D. may have guards 

E. must terminate in different regions of a state 

Correct Answer: E 
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